REBTIIRFESFFR
S5 FE FRITEE (4~68)
S5 E 4 B25HIRE
4 A 5A 6 A
B | TEFE B | R TEFE A | 2 TEFE
1]+ 1| A 1|k
2 | B 2 [ k2 - 3F&8E 1FFFL7 2 | &
3 (A 3 [ FELEA| 3 | £
41k S &EYoH| 4|8
5 |K|[7Z7RFK 1FEFIREAN 5 (& CEEDH| 5 | B
6 | A 6|+ 6 | X
7| & 7| H 7K
8 |+ 8| A 8 | A
9 | H 9 |k 9 | =
10| A |BEEER - 18ER 10| 7k 10| £
11| & (A== 11| K& 11| H
12| & 12| &|PTA#S 12| B
13| K |459> 152 13| £ 13| &
14| & |45 %% 14| B 14 | 7k
15| &+ |45 %% 15| A 15| K |HFER
16| H 16| X 16| | (FBELEFHA)
17| B 17 | 7k 17| £
18| 18| A 18| H
19| 7k |459> 153 19| € [450REX 5B HEHITR 19| A
20 | K |45z 20 | & |MmFHEAE 20| X
21| & |459 1R 21| B 21| 7
22| + 22| B 22 | A&
23| B 23| X 23| &
24| B |459 1% 24| 7K 24| +
25| k451 25| & 25| H
26| 7K |45 1% 26| & 26| A
27| & 4504 27| + 27| X
28| & 451 28| H 28| 7k
29| + BHIOoHA)| 29| B |HEZEE 29| K|HARZE
30| H 30| A [PHEZEE 30| % [HikEE
31| K |HEZBE




